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ASSOCIATESHIP EXAMINATION
; FIRE & CONSEQUENTIAL LOSS INSURANCE
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Answcr EIGHT questions only. Question ONE carries 16 marks but this is-not
‘compulsory. All other questions carry 12 marks each.
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Calculate the refund premium under a Fire Stocks Declaranon Policy ngen
the following figures:-

a) Sum insured Rs: 2,00,00, OOO ( 2 crores)

b) Rate Per mille - Re 1.00
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¢) - Monthly Declarations :- ' : Rs.
. Jan 50,00,000
‘Feb ‘ : ' 80,00,000
March ~ . : No declaration received

April = ©.-20,00,000

: ' : Nil- -

10,00,000 -
20,00,000

5,00,000
5,00,000

- ONib

30,00,000 -
60,00,000
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2. Whatis meant by retenmn in reinsurance? How is it fixed? -
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Calculate the claiin payable under a fire consequential loss insurance
policy, considering the following data:

Period of Insurance : 01.04.2006 to 31.03.2007

Suminsured - - 1 Rs. 800 Lakhs

Indemnity period. - : 6months
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Date of Loss : 01.02.2007 _
Period of Interruption ~ : 01.02.2007 to 30.04.2007
For the financial year 2005-06 the turnover is Rs. 5,000 lakhs and gross
profitis Rs. 1,000 lakhs.
Turnover for 01.02.2006 to 31.01.2007 is Rs.5,000 lakhs.
Turnover for 01.02.2006 to 30.04.2006 is Rs. 1,500 lakhs.
Turnover for 01.02.2007 to 30.04.2007 is Rs. 500 lakhs.
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How are wages insured under fire consequential loss insurance policy? 12
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Write short notes on the following:

a) Contract price insurance clause

b) Rent for alternate accornodation clause
¢). Escalation clause

Siftw Frieror RO (il g Frleen) & simfa wfve R s o
faftrr feeell 1 Seor@ AR | '

State the various details required to be incorporated under Risk Inspection
Report (Pre-acceptance inspection).

s i v F @ R ?

What are the ultimate objectives of Fire Underwriting?
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Wthh are the losses excluded under the fire pohcy within the scope of the 4-each -
followmg perils:-

a) "Fire

b) - Explosion/ Implosxon

) Riot, Strike, Malicious Damage?
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Wme short notes on:-

a) “Ex Gratia’ Payments -

b) - Without Prejudice
¢) .. Warranty

10. Hﬁam%mﬁm@aﬁw’mwﬁ? |

10. Which'are the ‘add on’"perils covered under a fire policy?'




